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1- Im the seventeenth century, the Greai Migration refers to the................
1) settlement of the Puritans in Massachusetts Bay
2) trade in slaves between west Africa and the West Indies
3) immigration of Irish to the colonies
4) settlement of French-speaking Canadians in Louisiana
2- Which of the following is a direct social change brought about by the American
Revolution?
1) The emancipation of slaves who fought against the British
2) An end to religious requirements for holding pohitical office
3) Recognition of the right of women to inherit property
4) Complete separation of church and State
3- The Declaration of Independence was based on the politieal philosophy
| TR e
1) Edmund Burke 2) Thomas Paine 3) John Locke 4) Thomas Jefferson
4- Which of the following statements about the Emancipation Proclamation is NOT
TRUE?
1) It immediately freed all slaves living in the United States.
2y It freed slaves only in the Confederacy or in areas of active rebellion.
3) It led to the creation of all-black units in the Union Ammy.
4) It gave the North a high moral reason for continuing the war.
5- Which of the following is the correct order of mations by whom The Louisiana
Territory was ruled?
1) Spain, France, Mexico, United States  2) Spain, France, Spain, United States
3) France, Spain, United States 4 France, Spain, France, United States
6- Which of the following is NOT one of the advaniages the North had over the South at
the start of the Civil War?
1} A larger population 2) Better mulitary leaders
3) Greater industrial production 4) A larger navy
7- Large numbers of Irish immigrants came to the United States in the 1840s because nt‘
the..
1} persecution of Irish Catholics 2) civil war between North Ireland and Ireland
3) massive failure of the potato crop 4) British military aggression in Ireland
8- The first nationality excluded from immigrating to the United States was the............
1) Mexicans 2) Chinese 3) Haitians 4} Otoman Turks
9- The main purpose of France’s North American empire was t0......ccecienuee
1’ convert Native Americans to the Catholic faith
2) enlarge the fur trade activitty with the Indians
3) block British expansion to the north and west
4) forman alliance with Spain to limit the area of British control
10- The term “Gilded Age"” refers to..
1) America’s military power in the pust le Wat years
2) a ime of polifical corruption and robber barons
3) improvement in food preparation in the late 19th century
4) new diseoveries of gold in the West
11- The purpeose of the Open Door Policy was t0....c.ceemesiannas
1) open China to free trade
2) guarantee Cuban independence
3) give the United Statesa sphere of influence in Asia
4) justify military oceupation of the Philippines
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12- In responding to the Depression, President Hoover placed primary emphasis

1) reducing the tariff 2) cutting federal taxes
3) regulating the sale of siocks 4) encouraging private volunteer efforts
13- Which of the following was NOT pari of American economic policy during the
1920s?
1) lower taxes on the wealthy 2) epposition to parity prices for farmers
3) limits on regulation of business 4) support of public-warks projects
14- The Neutrality Act of 1939...................
1) maintained the ban against trade with countries at war
2) was passed by Congress in response to the outbreak of war in Europe
3) provided for the exchange of naval bases for destroyers between the United States and
Great Britain
4) provided for the cancellation of war Debts
15- Which of the following statements about the alliance between the United States and
the Soviet Union during World War I1 is TRUE?
1) The United States failed to recognize the contribution of the Soviet Union to the victory
over Germany.
2) Lend-lease was withheld from the Soviet Union uniil after the battle of Stalingrad.
3) The United States fully supported the Soviet Union’s security claims in Eastern Europe.
4) The relationship was strained by the delays in opening up a second front in Europe.
16- The United Nations was able to provide military assistance to South Korea in 1950
111 R—
1) the USSR opposed the North Korean invasion of the south
2) the USSR boycotled the session of the Security Counegil at which the decision was made
3} the United States outvoted the Soviet Union
4) other nations in Southeast Asia pledged their support
17- Richard Nixon’s early success in politics was largely based on his..........ccuuue.
1) support for civil rights legislation
2) expertise in foreign policy, particularly China
3) anticommunism
4) backing of an expansion of the New Deal programs
18- Which of the following events in the Cold War occurred most recently?

1) Hungarian uprising 2} U-2 incident
3) launching of Sputnik 4) Castro in power in Cuba
19- The primary objective of the Marshall Plan was to......ccceevevarnre.n

1) provide economic aid to Western Europe after World War 11

2) create a military ergamization that could meet the threat from the Soviet Union

3) assist the countries of Eastern Europe 1o establish democratic governments

4) boost American military power by the development of new weapons, particularly the
hydrogen bomb

20- Which of the following statements best reflects a valid assessment of the Kennedy

administration? '

1y Kennedy was considerably more successful in the foreign policy arena than handling
domestic issues.

2) The administration was responsible for most of the accomplishments of the civil rights
movement in the 1960s.

3) Kennedy strengthened the presidency by his ability to get legislation theough Congress.

4) Kennedy created problems for his administration by his legislative and diplomatic
inexperience.
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21- Which of the following is in the correct chronological order?

1) Bay of Pigs invasion; Gulf of Tonkin Resolution; U.S. intervention in Dominican
Republic; limited nuclear test ban treaty

2) Gulf of Tonkin Resolution; Bay of Pigs invasion; limited nuclear test ban treaty; U.S,
intervention in Dominican Republic

3) Bay of Pigs invasion; limited nuclear test ban treaty; Gulf of Tonkin Resolution; U.S.
intervention in Dominican Republic

4) Bay of Pigs invasion; U.S. intervention in Dominican Republic; Gulf of Tonkin
Resolution; limited nuclear test ban treaty

22- Martin Luther King, Jr., advocated the philosophy of.........eesss ke
1) economic equality 2) Black Power
3) accommodation 4) nonviolence

23- The chief goal of African-Americans in the civil rights moveméntin the South in the
1960s was to.............
1) end segregated education
2) obtain the right for blacks to vote
3) establish affirmative-action job programs
4) win control of southern state Legislatures
24- Which of the following was the most significant event of 1969 in American history?
1) Student demonstrators were killed at Kent State University.
2) Martin Luther King, Jr. was assassinated in Memphis, Tennessee.
3) American astronauts landed on the moon.
4) The Watergate break-in took place in Washington, D.C.
25- Gerald Ford’s main liability in the 1976 presidential election Was..........cuvvvreeeen.
1) his inexperience in foreign policy
2) the Republican party’s position emcivil rights
3) the war in Vietnam
4) the Watergate scandal

AT acim s Yol B (el o5 a0 doleldl g 5

26- Wie hief die regierende Partei der Deutschen Demokratischen Republik?

1) FDP 2} SED 3)SPD 4) CDU
27- Die Oder-NeilBe-Linie trennt als Staatsgrenze die Bundesrepublik Deutschland von ......... A
1} Polen 2} Ungamn 3) Ruménien 4) Tschechien
28- Stasi war der Name des Staatssicherheitsdienstes ......... ?
1} der BRD vor 199() 2) des Dritten Reiches _
3) der fritheren DDR 4) der damaligen Sowjetunion

29- Zum ersten Mal in der Geschichte waren alle germanischen Stimme, die spiiter zum

deutschen Volk zusammenwuchsen, unter ... in einem Reich vereint.
1) Otto dem Ersten 2) Karl dem Grollen
3) Hermann dem Cherusker 4) dem Frankenfiirst Chlodwig
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30- Die Geschichte des Heiligen Rémischen Reiches Deutscher Nation ging erst dann zu Ende,

als 16 siid- vnd westdeutsche Linder unter Fiithrung ........... . a. ihren Auvstritt aus dem
Reichsverband erklirten.
1) Napoleons 2) Franz I1. 3) Bismarcks 4) Hardenbergs

31- Welche amtliche Position hatte Paol Joseph Goebbels seit 1933 inne? Er war ...
1) Reichsjustizminister 2) Reichswehrminister
3) Reichswirtschaftsminister 4) Reichspropagandaminister

32- Welcher Gedanke gehirte nicht ins Parteiprogramm der NSDAP?
1) Staatliche Kontrolle der Presse
2) Aufhebung des Versailler Verirages
3) Abschaffung der allgemeinen Wehrpflicht
4) Ein deutsches Staatsbiirgerrecht, das die Juden ausschloss

33- Welches der folgenden Ereignisse bedeutete praktisch das Ende der Weimarer Republik?
1) Die Ernennung Hitlers zum Vorsitzenden der NSDAP
2) Die Wirtschaftskrise am 25. Oktober 1929
3) Die Ernennung Hitlers zum Reichskanzler
4) Der Ausbruch des Ersten Weltkriegs

34- Was war die sogenannte ,,Weilie Rose*?
1) Eine deutsche Gruppe von Exil-Schriftstellern
2) Eine Geheimpolizei-Organisation im Dritten Reich
3} Eine kommunistische Widerstandsgruppe um Anten Saefkow
4) Eine studentische Widerstandsgruppe um Sophieund Hans Scholl

35- Welcher gehirte nicht zu den Beschliissen der Potsdamer Konferenz (vom 17. Juli bis
2. August 1945)?
1) Nationalsozialisten werden aus 8ffentlichen Amtern entfernt.
2) Die NSDAP und ihre Unterorganisationen losen sich freiwillig auf.
3) Deutschland wird in vier Besatzungszonen, Berlin in vier Sektoren aufgeteilt.
4) Deutschland wird véllig entmilitarisiert und die gesamte Kriegsindustrie wird zerstort.

36- Welcher wird nicht als éin miglicher Grund fiir die Auslinderfeindlichkeit, insbesondere
der Ostdeutschen, nach der Wiedervereinigung Deutschlands angesehen?
1) Der Verlost der sozialen Sicherheit
2) Die frither unbekannte Arbeitslosigkeit
3) Der wirtschaftliche Aufschwung nach 1990
4) Die Unfihigkeit, mit nenen Freiheiten zurechtzukommen
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37- In Welchem Teil Deutschlands spricht die Bevillkerung Niederdeutsch?
1) Im Morden Deutschlands 2) In Bayern und Thiiringen
3) Im Siiden Deutschlands 4) In Baden-Wiirtemberg

38- Was beendete der "Westfilische Frieden"?
1) Den siebenjihrigen Krieg. 2) Den 30-jdhrigen Kneg.
3) Den spanischen Erbfolgeknieg. 4) Die Schlacht von Austerlitz.

39- Woher kommt das Wort "deutsch"?
1) Aus dem Westfriinkischen: "theodisk” heifit: "zum Volk (thinda) gehGrend”.
2) Aus dem Alt-Angelsdchsischen: "dutch” meint urspriinglich "deutlich sprechend”.
3) Aus dem Germanischen: Das Adjektiv bezieht sich auf den Gott "Tuisto”, der als
Stammvater des Volkes galt.
4) Aus dem Lateinischen. Die "Teutoni" sind die ersten "Deutschen®, von denen berichtet
wird.

40- Was bewog 1914 England, den Mittelmiichten den Krieg zu erkliren?
1} Ein deutsches U-Boot versenkte versehentlich einén englischen Passagierdampfer in der
Nordsee.

2) England hatte schon vor Kriegsbeginn eing Allianz mit Frankreich geschlossen, Damit war
der Kriegseintritt Englands von vornherein vorprogrammiert.

3) Die englische Botschaft in Parig wurde versehentlich bei einem deutschen Artillerieangriff
getroffen, wobei einige hochrangige Regierungsmitglieder ums Leben kamen.

4) England hatte mit Belgien einen Pakt geschlossen, um deren Neutralitéit zu garantieren. Als
die Deutschen die belgische Gremze am 3. August 1914 iiberschritten, folgte um

Miternacht die englische Knegserklirung.

41- Die Geburtsstunde deutscher Nation war ...
1) die Einfiihrung eines Reichskirchensystems in Deutschland im Jahre 955.
2) die Annahme des deutschen Reichskirehensystems durch Papst im Jahre 950.
3) der Sieg von Otto L iiber die Polen in der Schlacht auf Béhmen im Jahre 950.
4) der Sieg von Otto L. iiber die Ungarn in der Schlacht auf dem Lechfeld im Jahre 955.

42- Die BRD entstand im Mai 1949, .....

1) nachdem das vom parlamentanischen Rat erarbeitete Grundgesetz auf der von den
Besatzungsmichten der Trizone veranstalteten Potsdamer Konferenz verabschiedet worden
und dann in Kraft getreten war.

2) nachdem das vom parlamentarischen Rat erarbeitete Grundgesetz mit der Bildung einer -
Regierung unter Adenaver Legitimitit gefunden hatte und dann in Kraft getreten war.

3) pachdem das vom parlamentarischen Rat erarbeitete Grundgesetz trotz des massiven
Widerstands der Westmachte in Kraft petreten war,

4} nachdem das vom parlamentarischen Rat erarbeitete Grundgesetz von den Westméchten
genehmigt worden und dann in Kraft getreten war.
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43- Der nach dem Zweiten Weltkrieg fiir den Wiederaufbau Deutschlands vorgeseheng
Marschallplan .....
1) war nur fiir die Westzone Deutschlands gedacht.
2) war auch vom Osten mit groBer Freude begriifit worden.
3) war auch fiir die Ostzone gedacht, er wurde jedoch vom Osten auf sowjetischen Druck

abgelehnt.
4) war zuerst nur filr die Ostzone gedacht. Das Geld hat man jedoch nach der Verweigerung

der Ostzone in die Westzone gesteckt.

44- Das erste deutsche Reich endete 1806, .....
1) nachdem Kaiser Franz 1. die Teilung Deutschlands in vier Zonen beschlossen hatte.

2) nachdem Napoleon Deutschland besetzt und dieses als einen Teil Frankreichs erklart hatte.
3} nachdem Kaiser Franz I1. unter dem Druck Napoleans die deutsche Kaiserkrone

niedergelegt hatte.
4) nachdem Napoleon mit dem Einmarsch in Deutschland das Ende des Kaisertums in

Deutschland fiir beendet erkliinte.

45- Nach der 1955 formulierten Hallstein-Doktrin ....
1) sollte die Reise der Staatsbiirger der BRD in die DDR verboten werden.
2) sollten die Parteien der BRD keinen Kontaktmit den Parteien der DDR aufnehmen.
3) sollte Deutschland die diplomatischen Beziehungen mit der Sowjetunion abbrechen.
4) sollte die BRD die diplomatischen Beziehungen mit jedem Staat, der die DDR anerkannte,

beenden.

46- Hitlers Machtergreifung war ....
1) das Ergebnis eines parlamentarisches Sieges der NSDAP.
2) das Ergebnis eines von der NSDAP unterstiitzen Putsches.
3) das Ergebnis der fehlenden Unterstiitzung der Weimarer Republik durch England.
4) das Ergebnis des Zusammenbruchs der Weimarer Republik nach dem Biirgerkrieg.

47- Helmut Kohl stiirzte 1982 Helmut Schmidt ...,
1) nachdem man ihmim Bundestag das Vertrauen gesprochen hat. Mit der Neuwah! fand

dann seine Regierung die Legitimitit
2) nachdém man ihm im Bundestag in verfassungsrechtlich umstrittener Weise das

Misstrauen " gesprochen hat, damit eine neue Wahl stattfindet.
3) nachdem man im Bundestag mit einem Misstrauensvomum gegeniiber Schmidt die

Legitimitit Kohls wieder hergestellt hat.
4) nachdemman ihn im Bundestag mit iiberwiltigender Mehrheit zum Bundeskanzler

gewiihlt hat.
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48- Wenn man in Deutschland von der GroBen Koalition spricht, .....

1} handelt es sich dabei um eine Koalition aus CDU/CSU und SPD.
2) handelt es sich um eine Koalition aus allen groBien Parteien Deutschlands.
3) handelt es sich um eine Koalition aus CDU/CSU, SPD und FDP, da diese Parteien nach
dem Zweiten Weltkrieg die Politik Deutschlands mitgeprigt haben.
4) handelt es sich um eine Koalition aus allen Parteien, auf die in den Wahlen die meisten
Stimmen gefallen sind. T

49- Was leitete den Anfang vom Ende der Weimarer Republik ein:
1} Das klare Votum Englands fiir Hitler in den Wahlen von 1932,
2} Der Ausbruch der Weltwirtschaftskrise im Jahre 1929
3) Die Machtlosigkeit der euwropdischen Staaten gegen die . nationalsozialistischen
Bewegungen in Europa.
4) Die Niederlage des Putschs von Hitler, der wider Erwarten der Weimarer Republik die
Biirger aufstachelte.
50- Nachdem der Bundestag im Jahre 1949 Konrad Adenauver zum Bundeskanzler gewihit
hatte, .....
1) betrieb dieser eine Westintegration.
2) betrieb dieser nicht nur eine Westintegration, sondem auch eine Ostintegration.
3) betrieb dieser eine deutliche Westintegration und eine vorsichtige Ostintegration.
4) betrieb dieser eine Politik der Integration gegeniiber dem Westen und eine Politik
der Isolation gegenilber der Sowjetunion.

ANITA il poe YN B (bl Gl & )i (5180 el Fu b

51- Durante la conquista la labor del clere secular se centraba en la ------m-,
1) tutela de las comunidades eristianas integradas por los conquistadores y sus descendientes,
los mestizos y losdemds europeos instalados en América.
Z) expansion del cristianismo mediante la conversion de los nativos y combate contra las
idolatrias.
3) ninguno
MNly2 :
52-  Ellibro de Bernal Diaz del Castillo que es un decumento sobre la conquista de México es
1) Cartas de Relacién
2) Vision de los veneidos
3) Historia del Nuevo Mundo
4) Historia verdadera de la conquista de la Nueva Espana
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El defensor de los derechos de los indigenas ---------.
1) Diego Veldzquez 2) Rodrigo de Bastidas
3) Fray Nicolds de Ovando 4) Fray Bartolomé de las Casas

La Guerra de los Diez Anosen Cuba —---—-.
1) se impuso al ejéreito espanol
2) puso fin al problema colonial espanol

" 3) redujo la proteccién azucarera y el nimero de ingenios

4) se decantd definitivamente a favor del comercio con EE. UL,
& Qué descubre Cristobal Colén en su tercer viaje?

1) El cono sur 2} la Tierra Firme

3 laisla caribena 4) el Estrecho de Magallanes
José de San Martiin en 1818 proclama la -----—-.

1) repiiblica chilena 2) repliblica argentina

3) independencia del Pert 4) independencia de Ecuador
{ Qué son las maquiladoras?

1) El sector dedicado més que nada a la produccion agricola

2) El sector responsable del aumento de las expontaciones no agricolas
3) El sector responsable de las exportaciones del café y las bananas

4) Ninguno

Las Juntas fueron ------- -

1) los espanoles que comenzaron las encomiendas én América

2) los cargos que recibian los criollos.en América por los reyes

3) los gobiernos locales creados por los criellos de América, aprovechando la independencia

4)2y3

El Consejo Real fue ¢l ------- .

1} érgano central supremo en la peninsula para el gabierno del Imperio ultramarino asi como
para legislar y actuar en tanto que maximo tribunal de justicia

2) centro de racionalizar la adnunistracion americana y fiscalizar el comercio transatlantico

3) aparato administrador del comercio colonial y de la emigracion a las colonias

4) aparato para la supremacia hispalense sabre el comercio colonial

En la Guerra del Pacifico (1879-1883) ---—-- -

1) Chile devuelve la costa peruana 2) Bolivia devuelve los territories chilenos

3) Chile pierde sus ternitories a Argentina 4) Bolivia pierde su costa-a manos de chile

El presidente actual de Colombia:

1) Alvaro Uribe ; 2} Juan Manuel Santos
3) Emesto Samper Pizano 4) César Gavira Trujillo
El libertador de Chile fue -----—-- s

1) Simon Bolivar 2) J.M. de Pueyrredon
3) Bernardo O°Higgins 4) José de San Martin
El plan de Ignala (1821) garantizaba -------- g

1) la‘igualdad entre peninsulares y criollos _ 2) la independencia

3) la unidad en ¢l catolicismo 4) ly2y3
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; A qué se refiere la Revolucion de los Cristeros en la historia de Méxieo?

1) El retorno a las libertades fundamentales y la devolucion de las tierras.

2) Al apoyo de las clases medias urbanas a los propésitos reformistas de Madero.

3) Un movimiento que pretendia impedir la afectacion de las tierras eclesidsticas por las

reformas creadas por Plutarco Elias Calles.
4) Ninguno
El drama del chaco se trata ----—- ——
1) de una posicion antiimperialista y la unidad continental

2) de la tendencia que proclamé en 1936 una repiblica socialista en Bolivia

3) del conflicto bélico mas duro, en la actual centuria, entre Bolivia y Paraguay

4) de un movimiento politico de extraordinaria influencia continental, surgido en Perii
La creacién del Canal de P anami como pais independiente fue ——-.

1) una muestra del intervencionismo norteamericano en el Caribe y América Central

2) una evolucién del liberalismo al positivismo francés
3) el comienzo de la Reforma liberal y anticlerical
4) el desarrollo de un partido socialista

Conceder a un colonizador el lrihutl_;l de un grupo de indios, a cambio de que se

comprometiera a protegerlos y evangelizarlos, era --------- .

1) la factoria 2) la encomienda 3) el repartimiento

; En qué consistia la factoria colombina?

1) la venta de los indios como esclavos

2) cobrar un salario por su trabajo en las minas

3) intercambio de oro por objetos traidos por los espanoles.

4) pagar el tributo a los colonos por los nativos.

El Tratado de Tordesillas se firma entre ----—----- :

1) Portugal y Castilla  2) Portugal € Italia | 3) Castilla y Francia

La primera poblacion espanolade América era -==---=-- .

1) La Navidad 2) Tenochtitlan 3) La Espanola
La lengna de los incas era «-----—.

1) Guarani 2) Nahuatl 3) Quechua

El primer virreinato fue el ---—-.

1} del Perli, con capital en Lima, en 1543

2) dela Nueva Espana,con capital en México, en 1535

3) del Rio de la plata, con capital en Buenos Aires, en 1543

4) de 1a Nueva Granada, con capital en Santa Fe de Bogotd, en 1535

4) la explotacidn

4} Francia e Italia

4) La Isabela

4) Aymara

; En qué fecha Cuba se conoce como una repiiblica independiente?

1) 1924 2) 1898 3) 1902

4) 1808
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74-  El Tratado de Asuncion tuve propoésiio de ------—- .

1) proteger un mercado de 194 millones de potenciales consumidores de la competencia de la
unidn Europea, EE.UU. y Japdn
2) crear una incipiente delicuencia muy bien organizada y armada
3) crear una zona de libre comercio que abarque todo el continente
4) implantar nuevas vias para la financiacion de la deuda externa
75- La independencia se desarrollé entre ------- -
1) 1810 - 1820 2) 1808 — 1820 3) 1810 - 1828 4) 1808 — 1825

AT aiiony g YT B (pulSil gl 4 Milis p g 16

76- Which of the following about the Falklands War, 1982 is TRUE?
1) Britain managed to reassert its sovereignty over the islands with nearly no-one dead or
any casualties inflicted on its side.
2) It was won in a style reminiscent of the appeasement of the 1930s and the Suez fiasco
of 1956.
3) It immeasurably strengthened Thatcher in relation to the Foreign Office and the *Wets’
within her own party.
4) Argentina declared war on Britain once the Falklands Islands were invaded in April
1982
77-The ‘means-test’ introduced in the late 1920s in Britain and discontinued in 1942 was
designed to.....cocnvemeenianens
1) calculate the amount of tax to be paid o the local authorities by the ‘smali-scale
industries’ in an area
2) assess a person’s entitlement to unemployment benefit by taking their income into
consideration
3) measure the yearly income of affluent families in the South before tax could be
deducted from their income
4) provide the elderly and the sick with such benefit as subsidized transportation cards and
health care at reduced prices
78- The British Prime Minister Clement Attlee’s name is often mentioned with regard to
1) dealing with the Irish question shortly after World War [
2) staunch suppert of liberal economy in the 1960s
3) anti-American poligies on the 1950s crises in the Korean peninsula
4) widespread nationalization after World War 11
79- Which of the follewing statements about the Boer Wars is TRUE?
1) The Second Boer Warended with the conversion of the Boer republics into British
colonies.
2) The First Boer War took place shortly before the Second Boer War, in 1897,
3) They were, in fact, fought as a continual series of wars from the mid-1895to the mid-
1900s;
4) The First Boer War was a rather bloodless conflict in which British sovereignty in the
Transvaal was successfully established.
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80- Which of the following about the 1981 Irish hunger strike is TRUE?
1) Sinn Fein was nearly driven out of the political scene in Northern Ireland as a result of
the strike.
2) It was the first of two hunger strikes staged by Irish political activists in the 1980s.
3) It was the first hunger strike by Irish republican prisoners since 1917.
4) Bobby Sands, one of the strikers, was elected to the British House of Commons during
the strike.
8§1- As a result of the setting up of the NHS (National Health Service) in England in
IS i
1) the British Medical Association was dissolved to be replaced by more professional
medical bodies
2) municipal and voluntary hospitals were both taken into public ownership and
administered through regional health boards
3) universal medical care was provided at the point of need the expenses of which were
initially deducted from the patient’s annual tax
4) free universal medical care was provided by government-subsidised private hospitals
across the country
82- The quadrupling of oil prices in 1973, called the OPEC I crisis, took place during
the government of..........ccoocvvnnnnn
1) James Callaghan 2) Harold Macmillan
3) Edward Heath 4) Alec-Douglas Home
$3- ‘Young England’ was a 19" c. group of four prominent members of the conservative
party, including the Prime Minister Disraeli, Who............ccccorsens :
1) saw the future of Britain as lying in the hands of the emerging industrial middle-classes
2) wished to see the ideas of the utilitarian philesopher Bentham to be put into practice for
the*good of the whole community®
3) thought it expedient to draw upon the energy of the country’s young people to
undermine the country’s rigid power structure
4) looked back to the Middle Ages as a golden time and were highly critical of the middle

classes
84- British Union of Fascists (BUF), launched in the early 1930s, was figure-headed
[,
1) Oswald Mosley 2) Ramsay MacDonald
3) Henry Campbell-Bannerman 4) Edward Carson
85- As a specific concept in British history, ‘Chinese Slavery’ or coolie labour came into
being in the... . 2000

1) aftermath of the Boer War in the 1910s

2) major reconstruction efforts after World War 11

3) the ganal-building period of the late 18" century

4) the British éolony of Hong Kong in the 19505 and 60s

86- As a landmark in British education, the Forster Education Act of 1870 vvvoisins

1) ensured that at least half of the cost of education was met from central government
funds

2) raised the school-leaving age from twelve to fourteen

3) sought to extend the provision of elementary schools so that the entire country was
covered

4) abolished fees in elementary schools
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87- The Eﬂﬂf—lﬂﬂi century *‘Tractarianism® or the “Oxford Movement’.......... ..
1) would attempt to (ideally) extend the right of franchise to all massés m" sucmty
irrespective of religion, race or gender
2) arguoed for the reinstatement of lost Christian traditions of faith and their inclusion into
Anghican liturgy and theology
3) urged the creation of a more secularized church that could cater for the needs of the
emerging industrial classes
4} called for representation by the bishops in parllame.m which eould over time replace the
current system of franchise
88- Which of the following statement about Race Relations legislations in the 1960s and
70s Britain is TRUE?
1) Such crucial areas such as discrimination in housing and employment were not quite
addressed until further legislation in the 80s.
2) They had a major shortcoming in that the Queen was never specifically mentioned as
an employer.
3) “Incitement to racial hatred’ was made a criminal offence as early as the 1965 Race
Relations Act
4) They finally covered even indirect discriminationand acts of private discrimination.
89- A ‘pocket borough’ as discussed in 19™ cembury history is a term specifically
reserved for..........

1) “voting issues’ 2) ‘industrial relations’
3) "geographical demarcations’ 4) “taxing system’

90- Old age pensions were first introduced in England by... Jniiss
1) Joseph Chamberlain / 1901 2) Stanley Baldwin / 1922
3) Lloyd George / 1908 4) Henry Asquith / 1915

91- Which of the following about the hisiorical development of the Labour Party in
Britain is TRUE?
1) Up until 1945, Labour had only succeeded in helping the Liberals to retain power after
1910 and holding office themselves in tWo minority governments.
2) For much of its history Labour has held to a policy of actively encouraging residents of
Morthern Ireland to apply for membership.
3) The Labour has officially maintained the stance of being a socialist party ever since its
inception.
4) During the First World War the Labour Party split between supporters and opponents
of the conflict but opposition to the war grew within the party as time went on.
92- The Liberal Democratic Party...........cocvee..
1) gradually paved the way for the formation of the Liberal Party in Britain during the
Cold War
2) are strongly after maintaining the status quo with regard to constitutional and electoral
matters and civil liberties
3) 15 considered as an effshoot of the 1990s New Labour, headed by Tony Blair
4) came into existence in 1988 as a result of the merger between the Liberal Party and the
Social Democratic Party
93- Black Wednesday, 16 September 1992 deals with an aspect of Britain’s relationship
Witk g ...
1) Northern Ireland 2) Republic of Ireland
3)the European Union 4) the United States
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94- The French Revolutionary and Napoleonic Wars was finally brought to a conclusion
by ..
l} Dull:e ﬂf Welhngtun at the battle of Waterloo
2) Admural Nelson at Trafalgar
3) the victory of Melson at the battle of the Nile
4) Lord Castlereagh in the Netherlands
95- The Norman Conguest of England (1066).................. &
1) was a huge boost to Scandinavian influence in the country
2) reinstated the native ruling class which had feared its post-Conguest position
J)isolated the country from mainland Ewrope for about three centuries
4) set the stage for a rivalry with France that would continue intermitténtly for many
centuries
96~ Which of the following is the right order of the monarchs in the Tudor dynasty that
ruled England from 1485-1603, before Elizabeth I?
1) Edward VI->Henry VIII-=>Mary I 2) Henry VI > Edward VI=*Mary 1
3) Mary 1= Henry VIII-*Edward VI 4) Mary 12 Edward VI-> Henry VIII
97- Which of the following about Oliver Cromwell (1599-1658) is NOT TRUE?
1} He was one of the signatories of Charles I's death warrant in 1649,
2) He adopted a policy of appeasement towards the Catholics in Scotland and Ireland
despite hostilities at home against them
3) He was one of the commanders of the New Model Army which defeated the royalists in
the English Civil War.
4) He had a role as Lord Protector of England, Scotland and Ireland during the
Interregnum.
98- The ‘Regency era’ in British history...
1} is roughly the period between 1810 to 132’-'] bcfﬂre Geurge l“l." ascended the throne
2) refers to the reign of William and Mnry at the end of the 17" ¢.
3} points to the last decade of the 19" c., the last decade of Queen Victoria’s rule
4) is the long reign (over a century) of the House of Hanover in the 18" ¢
99- Which of the following about the British PM Tony Blair is NOT TRUE?
1) He is credited with moving the Labour Party towards the centre of British politics.
2) He is the only Labour prime minister to serve two full consecutive terms.
3) He is distinguished for his relatively collectivist policies in line with other Labour PMs
4) He is the Labour Party's longest-serving Prime Minister.
100- “Westland affair® indicates Britain’s preference for defence iies with the United

States in the premiershipof...................
1) Margaret Thatcher 2} Edward Heath
3) John Major 4} Harcld Wilson
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A. Buibepurte npaBMNbHLIA BapyaHT.

101. B xaxom roay ILnenym LK KIICC oceobonun H.C. Xpywena or obazannocrei l'lepni:nro
Cexperapa IIK KIICC » naznauna na ero mecto JLH. Bpexnesa?
1} 1961 2) 1964 3) 1965 4) 1967

M}MQ“U’)QN)'@H“)UQ&W'S)L?'QQPT



o dmies ANVTA dcloy mes Fo¥ B (pgy 5l & Mg foo ;16

102. B 1905 r. aeiirenant TLIL IlIMuaT po3raaegsi BoccTanne B (Ha) ... ;
1) Onecce
2} CepacTonone
3) kpeiicepe "Ouakos”
4) bporenocne "Kuaze [ToTemuxun Taspuyecknii”

103. Kaxoe cobuiTie He nponcxonnio B CMyTHOe Bpema’?

1) INonscko-MBEACKAA HHTEPBEHIHA 2) cmeprs Bopica Fomynosa
3) cvepte Heana [possoro 4) yoniicreo JixegmuaTprs

104, C KaKHM IKOHOMHYECKHM TEPMHHOM ObLLI CBH3AH JKOHOMHYeCKnE kpu3nc 1998 rona B
Poccun?

1) ABYCTOPOHHHE PHIHKH 2) MOHONIONHA 3) pedponr 4) MH3MAT

105. Inasa kakol cTpanl He NPHHEMAana yyacTHa ¢ BepaEncxoil kondepenuun 1945 1.2
1) BenuxoGpHTanua 2} lepmanns 3 CCCP 4) ClIIA

106. Kak Huine paseiBaeTcs ropog, B KOTopoM nponsomaa Cranuurpanckan 6ursa?
1) Bonrorpan 2) Herepbypr 3) Kamunnrpan 4) CMonesck

107. Kakan cepa 3annna uentpansnoe MecTo B pedopmaropekoii nenreasnoctn Merpal?
1) rocynapcTeeHHOE YOpaBAeHHe 2} BHYTPEHHAA MONHTHEA

3) BHEIWHAN NOIHTHEA 4) kynuTypa

108. B xaxom roay dein n3dpan H.B. Cramun Cenepaneueim cexperapem LIKPKII(G)?

13 1920 2y 1921 31922 4) 1923
109. B TpoiicTeennsiii cows 1795 r. Bxo nim ..... .
1) Poccus, Aurnis, ABCTpHS 2) l'epmanus, bensrua, Pocounn
3) Poccua, Ascrpo-Benrpua, Hranua 4) Henanna, Aepcrpo-Benrpus, Pocchas

110. 3nuzonom KaKoro HCTopHYeckoro coduiTun nennerca Ocana XoTuna?
1) Bojina ¢ Hameneowom 1805 r. 2) Boiina ¢ Typumeit 1811 r.
3) Oreuecreennas poiila 1812 r. 4) Pyccro-Typeukas pofina 1787-1792 rr.

111. Kakoii u3 nikeHasBanyeIX nexadprucror ne Hb1a kKasaen?
1} K. Prineep 2) [LIlecrens
3) T Kaxoscxuit 4) C.Tpybeuxoit

112. Kakoii H2 npHHUHNOE He BEXOANT E YHenus cnaeanodunos?

1) napoaHocTs 2) pedpopmaTcTro
3) caMonepxasne 4) npasocnasne
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B xaxom sexe Mocksa crajia CTOJHIEH BCEX PYCCKEX 3eMenhb?
1) 10 2)12 313 414

Kaxan naprus oprannzopana youiicreo nmneparopa Anexcanapall?

1) «Haponsas sona» 2) Nexabpucrei
3) «3emna W BoaA» 4) Cnaganodmis!

Tuassarcknii mup 1807 r. b1 3aKNK0MEN MEKAY -en. -

1) Poccueii 1 Ascrpuei 2) Poccueit n Opannneii
3) Poccueit u IlIseimei 4) Poccueii u Uepmanned

Cymmnocts nonuradeckoii cueremel 8 CCCP 1930-mx roios onpefensiacs ..... .
1) coBeTaMH BCEX YPOBHE#H

2) corozom paboumx H KpeCcThAH

3) pesumonm niaroil Baacth H.B. Crannna

4) pcennacTHem onnoil nonuTHYeckoil napTin BKIT(6)

Koncrarynus PO Ouina npuRsaTa B ... .

1) mexabGpe 1993 r. 2) smBape 1992 r.

3) oxrabpe 1991 r. 4} mapre 2000 r.

B xakom ropose Guin your coin Heana Ipossoro — napepnt Jmutpnii?
1) 8 Mockee 2) 8 Yrauue

3) 8 Tap3nne 4) 8 Hoeropone

Tlpu KaxoM pyccKom npesnaenTe Gbil coBepiien pasron Bepxoenoro Cosera Poccun?
1) B.ITymun 2) B.Ensunn 3) A Measenes 4) M.T'opGayer

Coznanne Cenara B POCCHM NpoM30OMIA0 B NEpHON NPaBAEHHA KAKOre pyccKoro
mMoHapxa?

1) ITerp 2) Anexcannp |

3) Anexcannap 1L 4) Wipan [poaneiit

Hmnepatpaua Ennzagera Herposna obina ... .

1) senoi IMerpal : 2) noaepsio Ierpa 11

3) nouepsio Exarepann 1 4) marepeio Hunepatpuibl AHHE

B xakom Beke cocrosuiocs Kpemenue Pyen?

1)8 2)9 ' 310 4) 11

Kto KoMangoean pycckoii apMHeii Ha HauanbHoM rane OTeuecTrennoii Boiing 1812 1.
ao M. Kyryzesa?

1) Topmacos 2) BarpatHon
3) Pacuckuii 4) Bapxnaii-ne-Tommm
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B mone 1919r. coserckue pecnyfinKH 3aKINYHIH BOGHHLIH cow3, rae ¢ Poccnei
COTPYSHHYAIM ..... .

1) Benopyccua u Y kpauna

2) Benopycens, Ykpanna u Jlateus

3) NaTens, Benopycena, Yipauna u Jlntea

4) Nlursa, Jlateus, 3cronny, benopyccns, Ykpanna

Kakoe cpaskenne He spaseTcn snun3onom Bropoii muposoil soiinem?

1) Kypckaa bursa 2) Cranuurpajckas GUTEa
3) Bropas Pxescko-CemeEckas onepaims 4) Cpaxenme not Kpacusinv
o MMNITA iy me To¥ B (il 8 5l a5 Yol g )0
Au nom de Dien

Partie A : Histoire
Répondez aux guestions snivantes en cochant la correcte :

Au VI sidgcle av. J.-C., Vercingétorix vaincu, se rendra auX romains i ...

1. Thuringe 2. Alésia 3. Frise 4. Vouillé

Au début du V*© siicle, un groupe de peuples franchit le Rhin et ravage touie la Gaule pour se
diriger ensuite vers I"Espagne et I’Afrique du Nord. 1l s’agit des ...

1. Alains, Huns, Wisigoths 2. Vandales, Suéves, Huns

3. Alains, Vandales, Suéves 4. Wisigoths, Hittites, Phéniciens

Le premier roi de I’histoire nationale de France c’est .......

1. Clovis 2. Clotilde 3. Clotaire 4. Mérovée

An Moyen Age, chagque seigneur Jéve I'impdt pour lai-méme en échange de .......

1. rendre la justice. 2. des sacs de blé et des chevaux pour I'armée.

3, de la protection qu'il apporte & ses sujets. 4. de la construction des vaisseaux ou des casernes.
Quel roi joue vn rile essentie] dans 1’essor de Phumanisme ?

1. Louis IX 2. Charles X 3. Louis XIV 4, Frangois ler

Durant le régne de Charles VI la France fut divisé en ...... et .......

1. Ausirasie / Neusirie 2. Armagnacs / Bourguignons

3. Francie orientale / Francie occidentale #. royaume des Francs / royaume des Bourgondes

Pour contrer le conservatisme de la Sorbonne, un roi de France crée un nouvel établissement
scolaire, dans lequel seront enseignés non senlement le latin, mais aussi le grec et I’hébren.

1. La Cour des Comptes : 2. Le Collége de France

3. L’Ecole normale supérigure 4. L' Académie royale des Lettres -

Comment a-t-on appelé Ie courant qui se fit jour & partir de 1520, et qui prinait I"autorité de la Bible
contre celle de PEglise ? :

1. L' arianisme 2. Le mitraisme 3. L’Evangélisme 4, Le Zoroastrisme
Richelien, homme politique, s’entoura d’un groupe d'auteurs dramatique, pour assurer .......
1. sa propagande. Zo8a patrie. 3. sa langue. 4.s5a culture;
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135- Sous quel nom sont connus les troubles qui firent en France une vraie guerre civile, de 1648 &

136~

137-

16527
1. Les Guerre de Religion 2. La jacquerie
3. La Praguerie 4. La fronde

Qu’est-ce gu'une mazarinade ?

1. Un livre écrit pour dénoncer la politique de Mazarin.

2. Un livre écrit pour soutenir la politigue de Mazarin.

3. Une barricade dressée contre I'autorité de Mazarin.

4. Un livre écrit par Mazarin.

Aprés la erise politique de 1968, .......

1. I'Algérie devient indépendante.

2. le général De Gaulle démissionne.

3. une révolution culwrelle s’est déclenchée en France.

4. le socialiste Mitterrand est élu président de la République.,

138-Qui fut le fondateur de I’école publique en France an VIII® siécle ?

139-

140-

141-

142-

143-

144-

145-

146-

1. Charlemagne 2. Jules Ferry 3. Condorcet 4, Calvin

A quelle épogue le chancelier va devenir le premier personnage du Parlement ?

1. Sous les Capétiens 2. Sous les Carolingiens 3, Sous Tes Mérovingiens 4. A la fin du Moyen Age
Comment s’appelle la loi rédigée par les Francs i Pépoque de Clovis qui contient une clause qui
exclut les femmes de la succession de la terre 7

1. Loi-cadre 2. Loi salique 3. Loi de talion 4. Loi d’amnistie

Dans la société féodale, ..... désigne le lien qui unit un homme libre & son seigneur et se
concrétise par le fief.,

1. la wtelle 2. I'esclavage 3. I'obédience 4, la vassalité
Aprés la mort de quel roi francais les croisades prendront fin ?
1. saint Louis 2. Charlemagne 3. Lonis le Pieux 4, Charles le Chauve

Pour fixer les relations de I'Eglise catholique et de 'Etat, ...... était signé entre le pape et le chef
d'Etat.

1. un protocole 2. une convention 3. un concordat 4, un acte

Sous "Empire romain, les gaulois qui bénéficiaient du droit latin pouvaient .......

1. étre candidat aux magistratures romaines. 2. €tre candidat dans sa cité.

3. ére candidat & Rome. 4. voler.

Pour redresser la situation financiére de la France sous Henri IV, Sully ......

1. se rallie au mercantilisme Z. propose une augmentation des recettes.

3. interdit I"impontation des produits éirangers. 4. augmente ["impdt des compagnies de commerce,
En 1793-1794, les révoltés ...... revendiqueront Pautonomie des provinces face au pouvoir parisien.
L. féodalistes 2. anistocrates 3. fédéralistes 4. de I’ Ancien Régime.

147-50us le V* République, ...... avait la charge de la révision de la Constitution.

148-

149

150-

1. e Sénat 2. le Conseil 3. le Congrés 4, I"assemblée nationale
Quiels sont les départements feancais les plus touchés lors de la Premidre Guerre mondiale 7
es départements ....
1.'du Sud et de I"Est 2.duNord et de I'Est 3. du Sud et de I'Ouest 4. du Nord et du Midi
En France les femmes furent appelées aux urnes pour la premiére fois en .......
1. 1945 2. 1848 3. 1974 4. 1981
Aprés la 2° guerre mondiale et dans la période de reconstruction, la France trouve un reméde
partiel & Paide Marshal. Elle bénéficie d’une aide .......
1. de PONU 2.de I'Italie 3. de I’ Allemagne 4, 'des Etas-Umnis
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Which statement is FALSE?

1} The Arians introduced into India the ideas of racialism.

2) Arian emigrants came peacefully with their flocks of cattle and their household.

3) Whenever the original home of Vedic Arians was, they arrived in India from Persia.

4) Before Arians’ migration there was no civilization in India as recent excavations show.

When the notion of caste first developed in India?

1} After Buddha 2) Before Buddha

3) Before Aryans 4) During the Mughal Empire

Which dynasty did Eut_in force fur,the first time the taxation and revenue system that
still makes the foundation of today’s Indian revenue system?

1) The Nanda Empire 2) The Mughal Empire

3) The Maurya Empire 4) The Kingdom of Kalinga

What was the main cause for Indian civilization decadence during five centuries
preceding the time Mahmud Ghazni invaded India?

1) The religious belief prevalent at the time that India was ordained by God to remain safe and
no foreign force can invade it.

2) The lack of any significant external threat for a long time and thus the decline of the sense
of national loyalty.

3} The fact that Indians believed in their spiritual and temporal supremacy and that there is no
civilization but theirs.

4y All the above factors.

Which statement is FALSE?

1) Mahmud destroyed many Hindu temples and took their wealth.

2) Mahmud and his som Masudemployed Hindu generals in their army.

3) }ﬂahmud apart from annexation of the Punjab made no atternpt to conquer any portion of
ndia.

4) Mahmud allowed Hindus to freely practice their rites in their temples but only put some
new taxation system in force called jozia.

What is the greatest heritage of the Indo-Muslim era of the 13"™-15™ centuries?
1) Music and dance 2) Linguistic richness
3} Art and architecture 4) Scientific contributions

Which rode to Delhi and assumed for himself the title of Padshah-i-Hind and

constituted a national monarchy?
1) Masud Ghazni 2) Mahmud Ghazni
3) Mohammed Ghori 4) Babar, the founder of the Mughal Empire
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158- Taj Mahal at Agra was built under which Mughal Empire?

13 Shah Jehan 2) Jehangir 3} Humayun 4y Akbar
159- When did the East India Company found in London?
13 1500 2) 1600 3) 1700 4) 1800

160- . Which statement is FALSE?
1) British power did not use the Mughal revenue and taxation system at all.
2) In the mid eighteen century France and Britain were in struggle for supremacy in India.

3) European powers, already strong in sea, took the decline of the Mughal Empire as an
opportunity to arrive in Indian lands.

4) Regional conflicts among Indian rulers were intensified by Evropean interventions and as a
result national identity further faded.

161- Who was the main archiiect of British Empire in India?
1) Lord Pigot 2) Modhav Rao 3) Sir William Jones — 4) Warren Hastings
162- Why was Sir William Jones criticized by later generations?

1) He produoced an inconsistent and unscientific jumble of Indian traditional law which
became the basis for Indian jurisdiction system under British rule.

2) Due to his great loss in Business which caused financial disasters for East India Company.
3) Because of his involvement in military actions agamst civilians.
4) He did not show respect for Indian traditions,

163- Which institution was founded in the early twentieth century to safeguard political
rights of Muslim minority in India? =

1} Mational Congress 2) Muslim League
3) Bengal Freedom Movement 4) Panjab Freedom Movement
164- What was Gandhi’s main strategy for removing the colonial rule?

1) Military resistance 2) Political participation
3) Non-cooperation 4} Economic self-sufficiency
165- Who was the first prime minister of India?
1) Indira Gandhi 2) Motilal Nehru
3 Jawaherlal Mehru : 43 Mohammad Ali Jinnah
166- In which period of time India witnessed its most average annual growth rate in GDP?
1) Inthe 19708 2) In the 1980s
3) In the 1990s 4) In the first decade of the 21" century
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Did povert re-dm:tmn o hand in hand with annual GDP growth as a result of recent
economic | rallzatmn Dr should India consider further social care systems?

1) Annual growth ironically increased poverty rate.

2} The impact of liberalization policies on poverty reduction is debatable.

3) No doubt, liberalization policies were able to significantly alleviate poverty.

4) No economist believes that any relation exists between national growth and poverty.
Why is it very hard to apply reform in the area of Indian labor regulations?

1) Because Indian legal system is not ready to accept reform. I

2) Because in comparison to other developing countries India has gotagreat amount of urban
population.

3) Becanse most of the political parties have their affiliate labor unions who are virtually
guaranteed vote banks.

4) Because Indian workers are highly professional and will immigrate to other countries if the
regulations change.

Which statement is FALSE?

1) The rural population has been falling down since the 1990s.

2) Telecommunication sector shows a massive success since the 1980s.

3) Indian governments have increased tariffs and export subsidies since the 1980s.

4) The share of agriculture (excluding forestry and fishing) in the economy has been declining
in last two decades.

Comparing India with China, which statement is TRUE?

1) Indian powerful civil society and its efficient pnvate section are two important factors that
can give it more economic growth than China

2) Being a democratic system, India has less chance of sustainable growth because

democracies are less predictable.

3) India can never reach Chinese economy becanse India is a less coherent society.
4) India will lag behind in the economic race due to its older population.

Whatﬂare the three economic fields in which India had a dramatic growth in recent
years?

1) Agriculture, gamments and tourism

2) Diamonds, garments and software

3) Agriculture, diamonds and human cloning

4) Agriculture, software and peaceful nuclear industry

Who assassinated Rajiv Gandhi in 19917

1) Muslim league 2) Kashmiri separationists

3) Al-Qaeda snicide bornbers 4) Liberation Tigers of Tamil Eelam

MMQ“U’)QN)'@H“)UQ&W'S)L"QQPT



O ol (il )15 (990 3T (wvadii Colw g S puo

TY amis AW YA ia pia T Bl il b5 s i 5,1

173- How many percent of Indian population are currently Muslim?

1) About 5% 2) About 15% 3) About 30% 4) About 40%
174- Which state is among India’s richest states?
1) Bihar 2) Gujarat 3) Uttar Pradesh 4) None of the above
175- Which Prime Minister did put in force a radical birth control program?
1) Indira Gandhi 2) Rajiv Gandhi 3) Jawaharlal Nehra . 4) Manmohan Singh
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1. As a writer, Edgar Allan Poe (1809-1849) had very little sympathy towards and
particularly disliked the concepi of.....cccee
1) Gothic 2) science fiction 3) transcendentalism  4) satire
2- Henry David Thoreau’s Walden (1854).....ccce.-
1)is a largely traditional autobiography which would come to extol the virtues contemporary
American culiure’s nascent consumerism
2) devotes itself to stirring up awareness of how one’s material life can be enhanced by
wedding it the realities of country s liberal economic attitudes
3) deals with the importance of solimde, contemnplation, and closeness to nature in surpassing
the “desperate” existence that, he argues, is the lot of most people
4) was an attempt to recast a more balanced buman being in the light of the more positive
aspects the Industrial Revolution in America
3. Nathaniel Hawthorne’s Scarlet Letter (1850) is sebin....cocoesureensnnee
1) mid-18th ¢. Quaker east coast of Pennsylvania
2) 1Tth c. puritan Boston
3) late 16th ¢, “Elizabethan’ South
4y early 19th c. Industrial North
d- Herman Melville's Billy Budd (published 1924)......s......
1) takes as its hero the typical Handsome Sailorof 18th c. balladry
2) was an incomplete novelette at the time of the author’s death posthurmously finished and
published by his literary executors
3) deals with the conscious clash between the two main characters, ‘innocent’ Billy Budd and
‘vocious’ Claggart
4) ends in Billy Budd’s receiving a fatal blow from the demon-haunted petty officer Claggart
5- Which of the following works is NOT by Samuel Clemens (1835-1910)?

1) The Innocents Abroad 2) Roughing It
3) The American Democral 4) A Tramp Abroad
6- Henry James’s The Portrait of a Lady (1881)....cvreesverecnenens

1} contrasts French and American standards of conduct by bringing Europeans into a New
England background

2} is concerned with the failure of an American sculptor in Rome, resulting from a lack of
imner discipline

3) analyses the relations of ayoung American woman with a group of Europeans and

expatriated Americans

4) deals with the adventures of a group of American lady-tourists visiting historic Morth Tralian

owns to experience the ‘thrill of European life’
7- Which of the following about the American novelist Edith Wharton is NOT TRUE?

1) She shows the influence of Henry James early on in her career in her preoccupation with
ethical values (for instance, in her A Giff from the Grave).

2) She would repudiate James's impact on her thought in her seminal Writing of Fiction
(1925).

3) Her first long novel, The Valley of Decision (1902) is notable for its depiction of
an 18" ¢. Italian aristocrat of liberal sympathies.

4) Her Pulitzer-winning novel The Age of Innocence (1920) is an ironic handling of menan
social standards in New York high society.
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8- Which of the following American literary figures is NOT classified as a post-World War I
‘Lost generation®?
1) Gertrude Stein  2) Ezra Pound 3)Archibald MacLeish 4) e.e.cummings
9. William Faulkner’s Light in August (1932) is partly about the story of.
1) the death of Addie Bundren and her family's quest and motivations to honor her wish to be
buried in the town of Jefferson.
2) the Compson family, former Southern aristocrats who are struggling to deal with the
dissolution of their family and its reputation. :
3) Thomas Sutpen, a white man born into poverty who comes to Mississippi with the aim of
becoming rich and a powerful family patnarch.
4) Lena Grove, a young pregnant woman who is trying to find the father of her unborn child,
Lucas Burch.
10- Which of the following plays by Tennessee Williams is about the story of a Southern
American family in crisis, the turbulent relationship of a husband and wife, Brick and
Margaret, and their interaction with Brick's family?
1) The Glass Menagerie 2) Cat on a Het Tin Roof
) A Streetcar Named Desire 4) The Night of the Iguana
11- Which of the following modern playwrights deéveloped a series of ten plays, The
Pitisburgh Cycle, each set in a different decade, depicting the comic and tragic aspects of the
African-American experience in the twentieth century?
1) August Wilson 2) David Mamet 3) Cary] Churchill 4) Sam Shepard
12- The 1930s novel Tropic of Cancer, an intense personal narrative in fictive form of the
emotional and intellectual life of an American expatriate in Paris, is bY.ecinee
1) Paul Auster 2) Theodore Dreiser  3) Ogden Nash 4) Henry Miller
13- Joseph Heller’s Catch-22 (1961)..cccrsssrnrerees
1) often describes the events referred to as if the reader were completely unfamiliar with them
and their significance
7} is narrated through one centre of consciousness from whose point of view nearly all actions
of the novel are interpreted
3) repeatedly describes events from differing points of view, so the reader learns more about
each event from each iteration
4) contains events, which for a groundbreaking event novel of ils time, are produced in a realist
chronological fashion
14- Allen Ginsherg’s poem Supermarket (1955) 0pens Withewcevccecscnnnns
1) “I saw the best minds of my generation destroyed by madness...”
2) *T want to be known as the most brilliant man in America...”
3) “It is hard going to the door cut so small in the wall...”
4) “What thoughis I have of you tonight, Walt Whitman...”
15- Writer-work do not match in......ecieee
1) Saul Bellow—Herzog
2) J. D. Salinger=To Kill a Mockingbird
3) Vladimir Nabokev—Invitation to a Beheading
4} Sylvia Plath—The Bell Jar
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16- Kurt Vonnegut’s Slaughterhouse-Five, or The Children's Crusade: A Duty-Dance with
Death (1969).cccccccirssresnns
1) an anti-war science fiction novel
2) documentary novel on his experience as a meat-packaging hand in Wisconsin
3) collection of short stories depicting child labour in Central America
4) critique of American attempts to conquer the moon by 2001
17- Which of the following novels depicts five months in the life of a 26-year-old former high
school basketball player and his attempts to escape the constraints of his life?
1) Norman Mailer’s The Naked and the Dead
2) Philip Roth’s Good-bye Columbus
3) John Steinbeck’s East of Eden
4) John Updike’s Rabbit, Run
18- Which of the following figures was a key figure in the surrealistic New York School of
poetry with one of his poems Self-Portrait in a Convex Mirror?
1) John Ashberry 2) Flannry O’Conner  3) Eudora Welty 4} Anne Sexton

19- The American ‘Confessional poetry’ of the 20™-century was mainly a(R)u....coven......
1) inter-War (1918-1939) development  2) 1950s and 60s phenomenon
3) pre-World War I current 4) late 1948 neo-Romantic concept
20- Which of the following novels is NOT by the American postmodernist novelist Thomas
Pyachon?
1) The Crying Lot of 49 NV,
3) Portnoy's Complaint 4) Gravity Rainbow

21- The Old English work Caedmon’s Hymn.
1) is the culmination of a long line of works dealing in early English prosody
2) was designed to be sung aloud and was never physically recorded by Cazdmon himself
3) deals in the idea of early kingship and is an invaluable resource for historians of early
English warlords and chieftains
4) was composed by the most learned of the medieval scholars well-read in the 8" ¢. monk
Bede
22- Which of the following is the earliest recorded translation of the Bible into English?
1) Tyndale's Bible 2) Geneva Bible 3) Bishop's Bible 4) Wycliff’s Bible
23- William Caxton owes his fame in the English letters mainly to his status as
i) ) S

1) early educator / humanist 2) major medieval scribe
3} prinier 4) chromicler
24- Edmund Spenser’s The Faerie Queene (1590).....coemeennee

1) celebrates and memorializes the Tudor dynansty much in the tradition of Virgil’s deneid's
celebration of Augusius Caesar's Rome.

2) is nearly the first major English work in which no trace of ancient Roman / Greek literature
can be detected

3) is generally an attémpt to praise the reigning monarch Queen Elizabeth at the expense of the
other monarchs of the Tudor line.

4)deals in critical language of the present state of monarchy in England and is particularly
critical of the newly emerging Anglican Church
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25- Which of the following figures is NOT regarded as a *son of Ben’ (the Jacobean poet-
dramatist Ben Jonson)?
1) John Webster  2) Robert Herrick 3) Richard Lovelace  4) Thomas Carew
26- John Milton’s Areopagitica (1644) §5 8....cnvesnsmerssssrnsnse
1) long narrative poem in support of Cromwell as the leader of the parliamentary cause
2) prose polemical tract against censorship
3) prose satire on the institution of marriage in England
4) cycle of political sonneis
27- Jeremy Collier’s (1650-1726) fame in English letters and literatore rests partly on
his.
1) development of the comic opera as a sub-genre of Restoration comedy
2) amalgamation of the Restoration concept of comedy and the notion of Classical tragedy
3) espousal of a liberal attitude towards the staging of bawdy adaptations from carly

18th ¢. novels
4) fierce anti-dramatic stance particularly as regarded the comedy of 16905
28- Writer / work DO NOT match in..eeeeerrennnee
1) Aphra Behn / Oroonoko 2) Henry Fielding /f Amelia
3) Tobias Smollett / Vicar of Wakefield  4) Mathew Lewis /' The Monk
29- Lord Byron’s Childe Harold s Pilgrimage (1812-1818)................

1) is largely concemed with inciting enmity towards the despotism of Napoleon
2) describes the travels and reflections of a world-weary young man across Europe
disillusioned with a life of pleasure
3) deals with the *adventures’ of a upstart young man in upper middle-class aristocratic circles
4} is the least anObiographical of all his works, as it is meant to be an objective narration on
contemporary European history
30- John Keats’s Ode On Indolence (published 1848) opens wWill.......coucrireese:
1) “One mom before me were three figures seen, /
I with bowed necks, and joined hands, side-faced”
2} “My heart aches, and a drowsy numbness pains /
My sense, as though of hemlock I had drunk”
3) “I cannot see what flowers are at my feet, /
Mor what soft incense hangs upon the boughs™
4) “No, no! go not to Lethe, neither twist /
Wolf's-bane, tight-rooted, for its poisonous wine™
31- Which of the following is NOT a novel by the Romantic novelist Sir Walter Scott
(1771-1832)2
1) The Lady of the Lake 2) Rob Roy
3) Lorna Doone 4) The Bride of Lammermoor
32- George Knightley, Mr Frank Churchill, Jane Fairfax, Harriet Smith and Miss Bates are
characters in Jane Austen’S.....coorasess o
1) Northemger 4bbey 2) Sense and Sensibility
3) Pride and Prejudice 4) Emma
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33- Poem [ Poet do NOT match il....cooeeimacsne e

1) The House of Life / Dante Gabriel Rossetti

2) The Blessed Damozel ! Algernon Swinburne

3) Porphyria’s Lover [ Robert Browning

4) Charge of the Lighi Brigade | Lord Alfred Tennyson

34- Which of the following statements about Joseph Conrad’s Heart of Darkuess (1902) is
NOT TRUE?

1) The story concludes back on the boat on the Thames, with a description of how the river

seemed to Jead into the heart of an immense darkness.

2) The story opens with an unnamed narrator describing five men on a boat anchored on the

River Thames.
3) The story tells of Charles Marlow, a Belgian merchant engaged in the ivery trade in the
Congo.
4) The story proper in the work is a story within a story or frame narrative.
35- Imagism, a movement in early 20th-century Angle-American poetry,...

1) would unusually for the time featured a number of women writers among their major figures

2} A is regarded as the most sustained movement in Enghish poetry which lasted for nearly a

quarter of a century well into the 1930s

3) featred Longfellow and Tennyson as models to follow as regarded ‘most efficient’ poetry

4) is best represented in the Georgian poetry af the pre-War period

36- Down and Out in Paris and London (1933), a story in two parts on the theme of poverty in
the two cities, i5 DY...commemmnine

1) Aldoux Huxley 2) Arnold Bennett 3) Graham Greene  4) George Orwell

37- Anthony Burgess’s Clockwork Orange (1962)cucceminscne..

1) uniquely takes advantage of a ‘second-person” narrator

2} employs the supposed teenage slang of a too-distant past

3) is narrated by a first-person unreliable parrator

4) is written as a book in two parts not broken in conventional chapters

38- Which of the following is NOT classified as a British War poet?

1) Sigiried Sassoon 2) Wilfred Owen

3) Rudyard Kipling 4} Isaac Rosenberg

39- W. B. Yeals's poem Easter, 1916 opens with.................

1) “I have met them at¢lose of day / Coming with vivid faces / From counter or desk among
grey / Eighteenth-century houses.”

2) O but we talked at large before / The sixteen men were shot, / But who can talk of give and
take,/ What should be and what not / While those dead men are loitering there / To stir the
boiling pot?”

3) “O words are lightly spoken,’ / Said Pearse to Connolly, / “Maybe a breath of politic words /
Has withered our Rose Tree”

4) “They must to keep their certainty accuse / All that are different of a base intent; / Pull down

established honour”

1) Samuel Beckett / The Trial

2) Tom Stoppard / The Real Thing

3) HaroM Pinter / Roots

4) Amold Wesker / The French Licutenant's Woman
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BeibepnTe NnpaBuNbHbIA BAPUaHT.

MNpammaTnka:
41. Onpeaennre THIL CAEXYIILETD MPEMOEEHHA:
"Bon sudurus Au wepes pexy mom mocm?”
1) OAHOCOCTABHOE ONpeeneHH0-HYHOe
2) opHoCcocTaBHOE 0hoGImeHo-THIHOe
3) ABycoCTaBHOE € 00A3ATENIBHEIME PacnpoCTPaHATEIIAMMA
4) AByCOCTaBHOE ¢ QaKyIbTATHBHBIMH PacipoCTPaHHTEIAMH

42. B coBpeMeHHOM  PYCCKOM  A3BIKe OCHOBHEIM = ..  SJIEMEHTOM
caosoodpasoBaHuna ABNAETCH OCHOEA.
1) OpraHusyeMBeIM 2) OprafuSoEABIIHM
3) OprasH30BaHHEIM 4) OpraHUSYHOLHM

43. B xaxoM caoBe KOAW9ECTEO GYKE 4 3BYKOE cOBIamaer?
1) CKONBKO 2) paRHA 3) cuer 4) cembsa

44. 3a9eM THI ..... CTOALKO Hrpymek? Thl He CMOZKENlk WX BCe YHECTH.
1) mopoBpan 2) cobpan 3) nabpan 4) BeIGpan

45. Kaxoe onpegenenne Heé COOTBETCTEYET IPAMMATHYECKOH HOPME PYCCKOro

HA3BIKAY
1) Bessunoe NpeaokeHne — 9T0 ONHH H3 PaspAN0E OHOCOCTABHBIX NPEIONKEHHH.
2) JigycocTaBHEIE NPENAOKEHHA COCTOAT H3 ABYX NPOCTHIX [pe1oHeHHH.

3) OnHOCOCTABHBEIM Ha3HBAETCA TAKOE NPOCTOS OpeicKeHHe, 8 KOTOPOM OpeficTaBieH

AWITE OHH He3aRUCHMELH IaBHEIH YWieH.

4) ObssaTenbHBIE PacnpoOCTPAHHTENH — 3T0 TakHe YWieHH NPeIoiKeHHA KOTODHE
BHICTYIAOT B NpeLAi0HeHHAx TOT/Ia KOTAA MAaros HiH HMA HYRJAKTCA B N0ACHEHHH.

46. Pacckasxui MHE ..,.. 0 PYCCKHX KYPHATAX.
1) B ABYX CAOBAX 2) Ha ABYX CTIOBaX 3) ABYX CJIOB 4) B ipa CI0Ba

47. Jna GONbUIMHCTBA COBPEMEHHBIX JHTEPATYPHBIX HSBIKOB MOMKHO

cenyomue (QyHKnMOHANbHBIE CTHAM: OOMXOoAHO-OLITOBON, TraseTHO-

nyGannucTHaeCKRH, DpodeccHOHATLHO-TEXHHYECKHH H T.A,
1) HaeTHTh 2) paspenuTh 3) DopenuTHL 4) BEIIESIMTE
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48. Kakyio CHHTakKCHUYeCKy10 (DYHKUIMI0O BBINIOJHAET BhIJIS/ICHHOE CI0BA B
HHXECIenyIoIeM npeLIoKe HHH?
"Ha cmeHe sucum oxomuuuse pyxcne.”
1) AOTIOHEHHE 2) mopesKanee
3) onpesenenne 4) oberosrenseTeg
49. B cBoe Bpemsa B HOATOTOBKE SKCNEMUIMH OGEUIM. OTMEYEHBI HEKOTODHIE
ocobennocTH. Tipexae Bcero HeoOLMAHAA TAMHCTBEHHOCTD, ... OKPYHHII
sxcneaunHio npodeccop Mapaxor.
1) KOTOPEIM 2) KOTOpOH 3) KoTopas 4) KOTOpYIO
50. [ouaro He OTBOAMT 11143 OT TANEPKH, GYATO HE MOKET ..... HA MOJOALIE JIHIIA.
1) HACMOTpPETHCA 2) BCMOTpETBCH 3) nprcMoTpeTseA 4} ocMOTpeTheH
51. Hdamaii ..... TBOI HACH NPOBEPHM 0TACTHHO HA NMPAKTHEE.
1) BCKO 2) BCAKYIO 3) JmoGyio 4) Kayio
52. A y3HAJI, 4TO BHl XOTEJH NPEKPaTHTL Balll HHTEPECHBIH JKCIIEPHMEHT. —
IIpeacTrapsTe, X0TEA, HO BOBPEMA ..... H HE NPEKPaTHIL.
1) npHIyMa 2) BBUYMAN 3) omymanca 4) HamyManca
53. Beaka nopsiraer..... -
1) € BETKH HA BETKOH 2) U3 BETKH B BETKY
3) C BETKH HA BETKY 4) M3 BETKH HA BETKY
54. Hmn opna nompaboTHnna He MOTAA ..... € HAM H3-3a ero 2KCHeHTPHYHOCTH.
1) YHTBCA 2) HOKHTLER 3) BEDKHTE 4) 3aKUTH
55- B Hu:xec/eayomeM OPpefioKeHHH BRIPAXKASTCH ..... SHAYSHHE.
"ITpu ecem ceoem yeaxncenuu k eam R He MOZY 6bNoAHUML emuetl
npocsebnL.”
1) yenoeHoe 2) YCTYIHTEALHOE
3) NpHYHHHOE 4) HFBACHATENLHOS
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56. Kakoe onpeaejeHHe COOTBETCTBYET TIpaMMaTH4YecKOl HODME pPYCCKOTO

A3BIKA?

1) O3soHYEHHE TJIYXHX COTJIACHBIX NPOHCXONHMT B CJIy4adx KOrja, Tyxoe COrNacHoe
HAXOJHTCA B KOHIE CI0Ba.

2) OzpoHYeHMEe TIYXHX COTJIACHBIX NMPOHCXOAHT B CIy4Yasx, eCliH Iiayxoe coracHoe
HAXOAHUTCA MOCHAe SBOHKOND COrTAcCHOTO.

3) OrmyineHne 3BOHKHX DPOHCKOIHT B CIyYafAx, KOIAA 3BOHKOE COIMIACHOE HAXOMHTCA B
MOSHIMH Tepes] TIyXHM COTNACHLIM B CJI0BE.

4) Ormyumesye SBOHKHX IPOHCXOMHT B CAy4aAx, eCIH 3BOHKOE COrNacHoe HaxomuTCs
nepefi 3BOHKHM COTJIACHHIM B CIIOBE.

57. Kampbii ua Hac ..... B AHIETHOM KApMaHe SacTHITY HCTOPHM,
1) OPHHOCHT 2) OTHOCHT 3) HOCHTE 4) HoCHT

58. Heropua crapuHHOH yeaaslbl, KOTOpAaA ..... Ha BOIXOHKY, ..... K 18 Bexy.

1) DPOXOMAKT, MOAXOTUT 2) BOCXOHT, BEIXOAHT

3) BXOIHT, IEPEXONT 4) BBIXOAHT, BOCXORHT
59. B mocaeaumii Aens y4eGHOTO roja WKOIEHHKAM ..... JHEBHHKH ¢ OLEHKaMM
34 roj.

1) pasmanu 2) BHOAIH 3) noganu 4) obmanu

60. Kakoe c10BO MIpaeT poab NOLISKAIIEr0 B CIeXYIOUeM nperioseHnmn?
"I[IpouLioe cmMpacmuo 2aadumen 6 zpadyyee, Hem nacmonuezo.”

1) TAAAHTCR 2) npouwioe
3) HET HACTOMINETD 4) NpoNUIOe CTPACTHO
TNurepartypa:

61. Tnasusie repon meecsi J.WA. @Donenszuna «Hemopocas» ABAAKTCH
NpeacTABHTC/AAMM woees »

1) ABOPAHCTEA 2) MemaHCTBa 3) Kynedecrsa 4) KpecThaHCTBA

62. Jiysmmmy 00pasnaMu AHTEPATYPHI ..... ObLIM NpusHaHs! "Crpaganus 10HOTO
Beprepa" I'ere n "I0na, wim Hosan Daonza” Pycco.
1) KIaccHIHzEMa 2) peannHama 3) CEHTHMEHTANN3MA 4) POMAHTHAMA

63. B kaxoMm ropo/ie HAPcTROBAN KHA3L Baagumup, npaBuTe b PYCCKHX 3eMeib B
pycexux ObiHHAx?

1) Kues 2) Mockea 3) Hoeropon 4) Metepbypr
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KTo ABNAeTCH rIaBHbIM repoeM cTuxoTsopennsa M.10. JlepmoHTOoBA
«Bopopuno»?

1) aBTOp 2) napon 3) paccKasyHkK 4) TONKOBHMK
Tlpﬂl'l —_— m LY

1) CpelcTBO XYAOKECTBEHHOTO H300pakeH i, OCHOBAHHOE HA IpeyReIHYeHNH.
2) ynogobaeHse OEONO NpeAMeTa ApyroMy N0 CXOCTEY HIlH KOHTPacTY.

3) conocTARIEHEE OAHOTO NpeiMeTa WIH ABJIeHHA ¢ APYTHMH.

4) ynorpeQinesEue ¢I0Ba B ero NepeHOCHOM SHAYEHHH.

Cneunduueckoii oco0eHHOCTEI0 KAKOr0O JHTEPATYPHOTO XKAHPA ARIAETCH
PaA3BeTBJACHHOCTL CHGKeTa, OTPAXKAIaAs CI0EHOCTh, OTHOINEHHH B
obmecree?

1) Tpareans 2) poman 3) ouepk 4) oma

B xakoM GOpOHIBENEHHH peds HAET O Takux npodaemax, Kak o
KPenocTHHYECTEe, HAPCKOM CAMOAEP:KABHH, 3KeCTOKOCTH NOMEIIHKOB?

1) «ITorectH noxoiroro Heaksa [lerpoBida GenkiHa»

2) «Tlyremecrene A3 [lerepbypra B Mockey»

3) «Kro ppHOBaT?»

4) «I'ope ot ymax»

HpeacraBuren ..., COYYBCTEYA KPENOCTHBIM KpecThbAHAM, HACTOHYMBO
NOAYEePKHBANT HX HPABCTREHHOE NPCBOCXO/CTEO HAfl KPeNOCTHHKAMH .

1) peannama 2} NpOTPeCcCHBHOTO POMAHTH3MA

3) kiaccHIA3MA 4) AeMOKpPaTHIecKOro CEHTHMEHTAIHSMA
Kaxoe nponaeegenaue .M. Tocroenckoro nanucaio B popMe nepenHckmn?

1) «TlogpocToK» 2) «3anuckn #3 MepTBoro goMa»

3) «Bennble mogHs 4) «YHmKeHHbIe H ocKOpO/IeHHbBIE»

K10 He aBAfercA mepcosazxen pomana JI.H. Toscroro «Anna KapeauHa» ?

1) OBnoHCKIH 2) Hexmopor 3) Bponckuii 4) Jlernn

Kak HasniBaercs ApamaTudeckoe npouszeenenue H.C. Typrenena?

1) «Mecan B iepeHes 2) «BernHue BobI» 3) «My-my» 4) «JIpin»
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Kakoe c10B0 Mponyieso B cTuxorsopenun A.C. Ilymkuna:
Hecuacmuvio éepHas cecmpda,

......... 6 MPauHOM nodzemense

Paz6ydum Godpocmb u aeceave,

ITpudem nceaanHas nopa.

1) cBET 2) pona 3) Haziewpa 4) ceofiopa
=73. K xaxomy nosTHYecKoMY XaHpy npHHaMIesKHT «IlecHs o Bemem Oaere» A.C.
Mymxaaa?

1) Bannaga 2) aierns 3) GacHs 4) ona
74. Kakum mncropuyecknm cobfmTaaM nocesamena nopecre A.C. Ilymxwna

«Kanuranckas joaxka»?

1) cobriTiAM Pyccko-Typelkoi Boinsl 1768-1774 rofios
2) cobeiTiaM KpecTeauckoH BOMHE 1773-1775 rofioB

3) cobpitiaM OrevecTeenHOH BOHHE 1812 roaa

4) cobpiTHaM BoccTanua lexabpucTos 1825 roga

75. Kakxoe npousseagense He Hanucano M.IO. JlepMoRTOBBIM?
1) «[Iup BO BpEMA YyMbL» 2) «JlloAH H CTpacTH»
3) «Mackapagn» 4) «llemon»
=6. Kaxoil pycckmii mosT OpLI KASHEH KAaK OJHH H3 PYKOBOIHTENEH BOCCTAHHA
mexabpHcToB?
1) E.A. BapaThIHCKHI 2) [1.A. Basemexuit
3) B.I'. KioxenpGexep 4) K.@. Prunees
7. Kakoii M3 HIZKeYKA3aHHBLIX nepcoHaseil nbechl AIl. Yexona «Yaiika» 611
nucarenem?
1) Menpeznetko 2) Copun 3) Tpuropus 4) Nopu
78, Kaxoil pycekmii noar GbLI OpeACcTABHTEIEM «MHCTOM» MO33HH H B CBASH C

THM Beerjia cmopna ¢ H.A. HekpacoBmM — HpeacTaBHTeNeM CONHANLHOI
no33uu?

1) MLIO. JlepmonTOB 2) K.9. Prineer

3) A.C. IlymkHA : 4) AA. Per
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79. lIpeacraBHTENH ... NpeHMyIecTBeHHO 00palnanncs K crap
npeaasnuaMH, 0CoGeHHO K Cpe/iHEBEKOBLIO.
1) ABOPAHCKHX CEHTHMEHTANHCTOB
3) KOHCEPBATHEHBIX POMAHTHKOB

80. 9ro Takoe meradopa?
1) Tpom, OCHOBAHHLIH HA OpeyBe/IHYeHHH
2) crunHeTHYecKad (pUrypa, NpOTHBONOCTARIeHHE KOHTDA!
3) nensb coObITHIE NPOU3BENCHHNA, O KOTOPBIX NOBECTBYETCS B CK
MOC/IEA0BATENLHOCTH
4) nepeHeceHHe CBOHCTB OOHOTO NpefMeTa Ha JpyroH Ha
A 06oHx

'y

PardazeshPub.com
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Partie A : Francais général
Complétez les phrases suivantes e

Les parenis apprécient ces éducateurs ... prétent attention ... ¢e que disent les
jeunes ... connaissent des difficultés.

Lqui/a/ qui 2.que /& / dont 4.qui f de [ que 4. que / de / dont

Son anxiété s’amplifie ... qu’elle devient de Pangoisse.

1. 51 bien 2. de sorte 3. aussi bien 4. 4 tel point

Pour que leurs actions ... plus compréhensibles, les élus ... un nouveau
vocabulaire.

1. sont [ inventent 2. soient / ont inventé 3. soientyl inventeraient 4. sont/ auraient inventé
.. fassent ses attaches avec le passé, elle ... assez de jennesse pour s'intéresser i
toutes les nouveantés.

1. Quelles que / conservait 2. Quoigue [ conserverait

3. Quoi que / conserva 4. Quelques / conserve

Si les secours ... rapidement, Paccident ... des suites eatastrophiques.

1. n’ont pas intervenu / avait e 2, né sont pas intervenus [ avait en

3. n'avaient pas intervenu / aurait en 4:m'etaient pas intervenus / aurait en
Le ciel rit et les ... chantent dans I'anbépine en fleur.

1. Touge-gorge 2, TOUges-gorges 3. rOuges-gorge 4. rouge-gorges
La tempéte avait ... les barques & la cite et lesavait ... contre les rochers.
1. jeté / brisé 2. jetés [ brisés 3. jeté [ brisées 4. jetée [ brisée
Le papillon trouve la rose ... belle gu’il ... pose.

Lsifsy 2. 8" [ si 3.5/ g'en 4.8y / s’en
Transposer au discours indirect : « Avez-vous I'heure ? » Il lui demanda ...
1. est-ce que vous avez I'heure ? 2. si elle avait I'heure.

3. I'heure qu’elle a. 4. si elle a 'heure.

Dans la phrase suivante : « elle est plus eourageuse que jamais », le complément du
comparatif est ...

1. un adverbe. 2. un adjectif.

4. un groupe nominal. : 4. une proposition subordonnée.
Un argument qui offre Papparence de la vérité est ...

1. incontestable 2. plausible 3. authentique 4. spécienx
Ton employé qui termine rapidement le travail est ...

1. trainard 2. indolent 3. fainéant 4. expéditif
Cette image disparait par degrés. Elle n'est pas ...

1. instable z. fugitive 1. permanente 4. évanescente
Un sujet de conversation qui choque la décence est ...

1. délectable 2, seabreux 3. distingué 4. agréable
Ce prix est... : il est tellement bas que cela semble une plaisanterie.

1. notable 2. important 3. dérisoire 4. foncier
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96- Une formule gui cherche a éluder n'est pas ...
1. contestable 2. évasive 3. ambigug 4. claire
97- Une envie qu'on ne peut contenir est ...
1. irrépressible 2. vulnérable 3. répressible 4. résistible
98- Un incident qui est sans importance est ...
1. insolite 2. inédit 3. anodin 4. Tare
99- Un geste qui se fait 4 la dérobée est ...
1. SOUTNOIS 2. proclamé 3. inculqué 4. furtif
100- Ces mesures sont trés strictes, elles sont ...
1. succulentes 2. draconiennes 3. débonnaires 4. compatissantes

Partie B : Littérature

101- Quel est le rille de Francois de Malherbe dans les lettres francaises ?
1. Il donna des normes trés strictes 4 la langue et 4 la versification francaises.
2. Il développa des vers sublimes sur des trames narratives particuliérement minces.
3. Ses raffinements furent connus sous le nom de préciosité.
4. Il influenca toute la littérature religieuse baroque.
102- Laquelle de ces grandes ceuvres européennes ne se rattache pas au baroque ?

1. Don Quichotte de Cervantés 2, La Divine Comédie de Dante
3. La vie est un songe de Calderdn 4. Roméo et Juliette de Shakespeare
103- Quelle écrivaine, avec son roman Le Grand Cyrus, est le meilleur représentant de
la préciosité ?
1. Julie d'Angennes 2. Madame de La Fayette
3. Mademoiselle de Scudéry 4. Madame du Plessis-Guénégaund

104~ ..., dans lequel on parodiait les aventures des héros de 1'Antiquité, fut mis a la
mode par ..., i la fin des années 1640.
1. La satire / Marot 2. Le pastiche f Moliére 3. Le pamphlet / Courier 4. Le burlesque / Scarron
105- On a pu dire que les Letires persanes ouvraient la voie d'une grande ceuvre
philosophique. Laguelle ?
1. L'Esprit des lois 2. Le paysan parvenu 3. Le Contrat social 4. Le Réve de d'Alembert
106- Voltaire invente un nouveaun genre littéraire, présentant un récit alerte et ironique.

Quel est ce genre ?

1. L'épigramme 2. Lanouvelle 3. Le proverbe 4. Le conte philosophique
107- De quel genre théftral Diderot est-il le créateur ?

1. Le mélodrame 2. Le drame bourgeois

3. La comédie larmoyante 4. Le drame fantastique

108- Le titre de La Nouvelle Héloise de Rousseau s’explique par référence i ...
1une histoire véritable vécue au Moyen Age. 2. une légende antique.
3. une histoire persane. 4. une fille de I'auteur.
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109- Le Journal des fréres Goneourt est ...

110~

111~

112~

13-

114-

115-

116-

117

118-

119-

1. le récit de leurs premiers amours. 2. une peinture féroce de leur temps.

3. un florilége de leurs critiques littéraires. 4. le réeit de la création du prix Goucourt.

Quel événement est i 'origine de 'organisation chronologique du recueil de Vietor
Hugo, Les Contemplations ?

1. La révolution de 1830,

2. Le coup d'Etat de Napoléon 111 en 1851.

3. La mort de sa fille Léopoldine en 1843.

4. La chute de 'Empire et la proclamation de la République en 1870,

L’introspection, c'est ...

1. un regard objectif. 2. une inspection sévére,

3. un regard porté sur soi-méme. 4. un regard rétrospectif, porté sur son passé.
Quelle est la particularité des grandes piéces de théétre de Musset ?

1. Elles ont toutes été écrites en vers, 2. Elles ont été publites sans étre jouées.

3. Elles ont toutes connu un succés immédiat. 4. Elles n'ont été découvertes qu'an XX- sidcle.
Georges Perec écrit : « je n’ai pas de souvenirs d’enfance ». Pourquoi ?

1. Parce qu'il a décidé de ne rien dévoiler.

2. Parce que tout souvenir est selon lui suspect.

3. Parce qu'il a tout oublié 4 la suite d'un grave ageident.

4. Parce que le souvenir est selon lui une doulenr insupportable.

Pourquoi Sido (personnage de Colette) réveille-t-elle sa fille avant Panbe ?

1. pour qu'elle fasse ses priéres. 2. pour gu'elle termine ses devoirs.

3. parce qu’elle doit faire le ménage. 4. Pour gqu'elle puisse profiter du lever du soleil.
Dans Le Premier Homme, Camus évoque ...

1. la fragilité de 'homme face a I'absurde.

2. la valeur allégorique du mythe de Sisyphe.

3. l'étrangeté d'une enfance heurcuse et déshéritée.

4. I'importance du péché originel dans la civilisation occidentale.

Dans PAmant, pour brouiller les pistes, Duras ...

1. méle réalité et fiction. 2. parle d'elle au masculin.

3. fait de 'amant le narrateur de I'histoire. 4. méle le roman et I'écriture d’un seénario.
Dans Les Mots, Sartre s’accuse d'imposture. 11 veut dire par la ...

1. qu'on I'a trompé sur ses origines. 2. qu'il a toujours joué un personnage.
3. son autobiggraphie est mensongére. 4. qu'il n'a pas écrit lni-méme ses livres.
Quel poéte du XX+ siécle a traduit en vers libres I'Odyssée ?

1. Philippe Jaccottet 2. Louis Aragon 3. Paul Elnard 4. René Char

M. Yourcenar éerit une autobiographie fictive, qui retrace la vie d’'un homme
illustre et exemplaire. Il s’agit de ...

1. Mémoires de Jules César 2. Mémoires d'Hadrien

3. Mémoires de Socrate 4. Mémoires d’Erasme

120- Qui a écrit ses Antimémoires ?

1. Aragon 2, Mauriac 3. Malraux 4. De Gaulle
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121- El ereador del movimiento modernista: -—-—---—-- .
1) Riben Dario 2) Miguel de Unamuno
1) Juan Ramdn Jimenez 4) Ramon Maria del Valle-Inclin
122- En realidad, no le importaba la muerte, sino la vida, y por eso, la sensacion
que &l —— » cuando pronunciaron la setencia, no --— ——- una sensacion de
miedo, sino de nostalgia. )
1) experimentd - era 2) experimentd - fue
3) experimentaba — era 4) experimentaba - fue
123- Y ----—-- que no me gusta hacer juicios temerarios, de sobra lo —--—-- aunque

luego si, al enviudar, ella iba por ti.
1) conste - sabias 2) constaba - sabes  3) conste - sabes 4) costaba - sabias

124- El gque ama la misica es un —--—-,
1) miisico 2) melomano 3) musitropo 4) misdmano
125- Eldltimo piso de una casa es un —-—----,
1) alto plano 2) plano 3) techo 4) atico
126- Nos fuimos sin gue ninguno de los presentes —--—- euenta.
1) se da 2) se diera 3) se dieran 4) se darin
127- Dado que apenas se apuntd gente, tuvieron que aplazar el viaje.
1) Ya que 2) Puesto 3) Aungue 4) Con que
128- Aungque --——-—--—-- quince, casi siempre ——-—--- solo doce porque tres no van casi
nunca.

1) somos — somos  2) somos — estamos  3) estamos — somos  4) estamos — estamos

129- -- muestras de la luna per los astronautas.

1) Se recoge 2) Fue recogida 3) Se recogieron 4) Fueron recogidas
130~ Si no estuviéramos en clase, —----— estudiando.

1) estamos 2) estemos 4) estariamos 4) habriamos estado
131- --—-—— puesto la chaqueta se marcho.

1) Hitbose 2) Habiase 3) Habriase 4) Habiéndose
132- Puedes llamarme a--------- hora del dia.

1) cualquiera 2) cualquier 3) ningiin 4) algiin
133- £SiJuan os hubiera invitado, a su casa?

1) habéis ido 2) hubisteis ido 3) hubiste ido 4) habriais ido
134- El hombre saldri después que ——-- un poco.

1) ha llovido 2) haya llovido 3) hubo llovido 4) habra llovido

135- Usar del enganoy de robo, como uinicas formas eficaces de satisfacer las

necesidades elementales son uno de los rasgos de la novela --—-—- =
1) picaresca 2)morisca  3) bizantina 4) caballeresca

136- Lope de vega es el creador de la ---—-—-—- .
1) NovelaModerna 2) Lirica Castellana 3) Comedia Espaniola 4) Novela Morisca
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137- « Hielo abrasador » es —---—- 3
1) una antitesis 2) una anifora 3) un paralelismo  4) un hipérbaton
138- Elena se lleva tan bien con su hermano mayor que es -------- mis confia.
1) quien 2) al que 3) del que 4) en el que
139- No me importa que vengas o no a la fiesta. Por mi -------- te quedas viendo la
tele todo el fin de semana.
1) comosi . 2) aunqgue 3) por eso 4) que
140- Mi padre me dijo que como no ------—--- todas las asignaturas, me guedaria sin
vacaciones este ano.
1) apruebe 2) apruebo 3) aprobaré 4) aprobara
141- Lo que me molesto es que nadie me -----— ayer en la conferencia.
1) escucha 2) escuche 3) escuchara 4) haya escuchado
142- -—---—-no se lo comerian todo, éeh? Han dejado el plato completamente vacio.
1) Conque 2) Por eso 3) De ahi que 4) Por lo tanto
143- Lo que sucede es que es un fastidio que no lo -—----—-- antes.
1) ha previsto 2) haya pevisto 3) habréd previsto  4) habria previsto
144- No te pongas nerviosa. Tranquilizate y trata de hacerlo de nuevo. Sabes que -
1) la cabra siempre tira al monte 2) un sologolpe no derriba un roble
3) gato con guantes no caza ratones 4) mal de muchos, consuelo de tontos
145- Aquihay ---------- encerrado.
1) cordero 2) gusano 3) gato 4) perro
146~ El dia que lo conoci me parecid gue era un hombre bastante altivo.
1) alto 2} de alivio 3) soberbio 4) agradable
147- No podemos decir nada sobre el resultado del concurso, antes tenemos que
c iar im iones.
1) pedir informacion 2) eambiar opinions
3) reviser otras opciones 4) contarnos nuestras opiniones
148- La verdad es que al final siempre acaba haciéndolo, aunque sea
a repanadienies.
1) corriendo 2) sonriendo 3) protestando 4) equivocando
149- Estamos muy cansados y ya son las 2 de la manana,---—--- dejémoslo para
manana.
1) conque 2) porque 3) siempre que 4) con tal de que
150- Estoy — ir y decirle que me devuelva los 100 euros, i ya estoy harta de
prestarle dinero!
1) para 2) por 3) en 4)a
151- Luis altimamente estd muy torpe, ayer ----- -~ cayeron todos los libros en la
calle al salir de la oficina.
1) sele z)selos 3) le 4) la
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152- Se ha enfadado mucho en la junta de accionistas: creo gque le ha molestado
algo de lo que yo --—-- decir.

1) podria 2) pudiera 3) haya podido 4) habria podido

153- Me dijo que -~—--—— siguiera déindole problemas el coche, lo venderia
enseguida.
1) a condicién de que 2) con tal de que 3) como si 4) como

154~ Superd todos los eximenes en junio, --—-—- dicidiera estar todo el verano
viajando.
1) por eso 2) de ahf que 3) por lo tanto 4) de modo que

155- No pude encontrar a nadie -—-—---— manejara bien inglés, por eso no pude
entender qué habia pasado.
1) que 2) gquien 3) el cual 4) el que

156- La finca que teniamos no rendia lo suficiente. Decidimes, ---———--—,
deshacernos de ella.
1) asi 2) pues 3) asi que 4) puesto que

157- Sobre todo y lo més importante, escribe esto -—-——----- te 1o han dicho; si no, te
lo harén.
1) tal 2} de modo que 3)tal como 4) con modo que

158- Estoy de acuerdo con la idea, pero -——- y como se lleve a cabo.
1) cuando 2) donde 3) cuanto 4) segin

159- No tenia ni idea de alemén, -----—— habia vivido en Hamburgo muchos afios.
1) ¥y eso que 2) por mucho 3) si bien 4) asf

160- La familia de Pascual Duarte esde -———-.
1) Miguel Mihura 2) Blas de Otero
3) Antonio Buero Vallejo 4)Camilo José Cela
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161.

162.

163.

164.

165.

166.

167.

Der Untertitel von Wolfgang Borcherts Theaterstiick Draufifen vor der Tiir
lautet:

1) Ein Stiick, das das Theater spielen und das Publikum sehen will

2) Ein Stiick, das kein Theater spielen und kein Publikum sehen will

3) Ein Stiick, das kein Theater spielen und das Publikum jedoch sehemn will

4) Ein Stiick, das das Theater spielen und jedoch kein Publikum sehen will

Goethes Gedichtssammlung vom Jahre 1819 iiber sein Bekenntnis zum
Orient und insbesondere zu Hafiz heiBt ........; -
1) Ostlicher Divan 2) Westlicher Divan
3) West-distlicher Divan 4) Ost-westlicher Divan

Bertolt Brecht ist als ein Theoretiker ...... weltberithmt geworden
1) des epischen Theaters 2) des absurden Theaters

3) des apokalyptischen Theaters 4) des verfremdenden Theaters

Die Novelle gehiirt zur .... Dichtung.
1} epischen 2) lyrischen 3) dramatischen 4) didaktischen

Lessing gilt mit seinem Werk Nathan der Weise als ein Exponent der
literarischen Epoche ,,...%.
1) Klassik 2) Romantik
3) Aufklarung 4)Sturm und Drang

Im Absurden Theater wird .... dargstellt.

1) die Welt der Realitéit mit absurden Ziigen

2) die Nichtabsurditiit des Lebens mit absurden Ziigen

3) die Absurditat des Lebens realistisach und nicht grotesk

4) der seelische Innenraum des Menschen mit absurden Ziigen

Eines der stilistischen Mittel in der deutschen Triimmerliteratur ist .....
1) eine expressive Sprache, die lakonisch die zerstiirte Welt bewertet.

2) eine einfache Sprache, die lakonisch die zerstérte Welt beschreibt.

3) einé hermetische Sprache, die allegorisch die zerstorte Welt bewertet.

4) eine metaphorische Sprache, die imaginir die zerstérte Welt beschreibt.
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168. In Bertolt Brechts Theater wird ..... dargestellt
1) die Welt, wie sie ist, 2) die Welt, wie sie scheint,
3) die Welt, wie sie sein kann, 4) die Welt, wie sieseinsoll,

169, Die Literatur der DDR in den 50er Jahren wird als .... bezeichnet.
1) Aufbauliteratur 2) Ankunftsliteratur
3) Undergroundliteratur 4) Sozialistische Literatur

170. Feridun Zaimoglus Zwdlf Gramm Gliick von 2004 ist ein markantes Beispiel
fiir ..... in Deutschland.

1) Exdliliteratur 2) Ankunftsliteratur
3) Migrantenliteratur 4) Integrationsliteratur
Grammatik:
171. Hast du gewusst, dass meine Schwester nun anBer einem Miidchen ..... hat.
1) ein kleines Junge 2) einen kleinen Junge
1) einen kleinen Junger 4) einen kleinen Jungen
172, Mein Bruder tut so, .....
1) als ob er krank wire. 2) als ob er wire krank.
3) als er krank wire. 4) als er wire krank.
173. Den meinen Antrag ..... konnte ich endlich nicht rechtfertigen.
1) zu billigenden Beamtér 2) zu billigenden Beamten
3) zu billigenden Beamte 4) zu billigender Beamter
174. Das, was passiert ist, ist ganz .....
1) wider meines Erwarten 2) wider meinem Erwarten.
3) wider meines Erwartens. 4) wider mein Erwarten.
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175. Nur ein Student, an dessen ........... ich micht nicht mehr erinnern kann, hat

die Priifung nicht bestanden.

1) Name 2) Namen 3) Namens 4) Names
Wortschatz:
176. Wer anderen eine Grube gribt, .....

1) steht selbst auf dem verlorenen Posten. 2) ist selbst verloren.

3) fillt selbst hinein. 4) ahnt selbst Bises.
177. Es gibt in unserer Wirklichkeit nichts, was vom ....; Gottes ausgenommen

wiire.

1) Willen 2) Beschluss 3) Enthusiasmus 4) Gedanken
178. Fata Morgana ist eine andere Bezeichnung fiir .....

1) Sonnenaufgang. 2) Sonmenuntergang

3) Luftspiegelung, 4) Morgendimmerung.
179. Die Inhaftierten stellen in ........., am Putsch beteiligt gewesen zu sein.

1) Abrede 2) Verdacht 3) Absicht 4) Unrecht
180. Die Familie ist kreuz und ......... durch Australien getrampt.

1) gerade 2) quer 3) krumm 4) schrig
Rechtschreibung:
181. Wiirdest mir sagen, ..... Sie bis jetzt in Teheran waren.

1) wie viel mals 2) wievielmals 3) wie viele mals 4) wievielmal
182. Wenn ich meine Hausaufgabe nicht mache, wird mir.....

1) Angst und Bange. 2) angst und bange.

3) Angst und bange. 4) angst und Bange.
183. ...... mich bitte in Ruhe! Ich will mit dir nicht zu .... haben.

1) Lass — Tun 2) LaB - tun 3) Lass - tun 4) LaB - Tun
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184. Welches ist nach neuer Rechtschreibung nicht korrekt?

1) 100-prozentig 2) Comeback 3) 3.5-fach 4) schnellauf

185. Ich habe doch 20 Jahre nur .......... . Oder haben Sie das nicht gemerkt?
1) geschauspielert 2) schaugespielert 3) schauspielert 4) schausgepielt
Liickentest:
In Westeuropa gehen nach den massiven Flugausfillen zu Wethnachten die
(186) .vrreens hoch: Die britische Regierung priift nach den

witterungsbedingten (187) .......... vor Weihnachten am Londoner
GroBflughafen Heathrow (188) .......... Miéglichkeiten zur Bestrafung von
Airportbetreibern. Die (189) .......... sollten in entsprechenden Fillen
Geldstrafen in zweistelliger Millionenhohe (190) .......... konnen, sagte
Verkehrsminister Philip Hammond der Sunday Times. Es sei nicht (191)
.......... , dass die spanische Betreibergesellschaft BAA nach den bisherigen
(192) .ccevens keine Strafen zu befiirchten habe. "Es muss eine Geldstrafe fiir
Betriebsausfille geben, und es muss grifierer Wert auf (193) .......... und
Kundenzufriedenheit gelegt werden"”, fordert Hammond. Einige
Fluggesellschaften haben (194) ahgekundlgt,
Schadensersatzanspriiche gegen den Fln;hafenhel:re;her (195) .ccciaviee  ZM
machen.

186. 1) Willen 2} Wogen 3) Bomben 4) Daumen
187. 1) Einfillen 2) Einbriichen 3) Ausfallen 4)Ausbriichen
188. 1) finanzielle 2] technische q) kritische 4) gesetzliche
189, 1) Firmen 2) Behirden 3) Betriebe 4) Kanzleien
190. 1) verhingen 2) aushingen 3) authingen 4) abhiangen
191. 1) verkehrt 2) tolerant 3) achtsam 4) akzeptabel
192. 1) Rechnungen 2) Eindriicken 3) Regelungen 4) Messungen
193. 1) Leistung 2) Forderung 3) Bildung 4) Abriistung
194. 1) moglichst 2) bereits ) kaum 4) demnéchst
195. 1) entschieden 2) freilich 3) tatkriftig 4) geltend
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Textverstehen:

Schiiuble will angeblich die Unschuldsvermutung beseitigen

Bundesinnenminister Wolfgang Schiuble (CDU) hat wvorgeschlagen, in
bestimmten Fillen vom rechtlichen Grundsatz der Unschuldsvermutung
abzuweichen. Der Innenminister begriindet dies mit dem "Kampf gegen den
Terrorismus". Die SPD und die Opposition reagierten am Mittwoch mit
einem Sturm der Entriistung auf die AuBerungen des Innenministers, der
bereits mit Plinen fiir eine Fingerabdruckdatei, Online-Durchsuchungen, die
Auswertung von Mautdaten und Einséitze des Militirs im Innern in der Kritik
steht. Ubereinstimmend hiefl es, der Verfassungsmhﬂster verlasse den
Boden der Verfassung.

Schiiuble sagte dem Magazin "Stern": "Wiire es richtig zu sagen: Lieber lasse
ich zehn Anschliige passieren, als dass ich jemanden, der vielleicht keinen
Anschlag begehen will, daran zu hindern versuche?", Eine solche Auffassung
wiire falsch. SchlieBlich habe der Rechtsstaat die Aufgabe, die Freiheit der
Biirger zu schiitzen.

Ein Sprecher des Innenministers erliuterte, Schiiuble habe lediglich klar
gestellt, dass es einen Unterschied zwischen repressiver und priventiver
Strafverfolgung gebe. Ebenso dubBerte sich Justizministerin Brigitte Zypries
(SPD). Die Unschuldsvermutung - also der Grundsatz "im Zweifel fiir den
Angeklagten" - gelte bei der Gefahrenabwehr nicht. Doch miisse auch hier
das VerhiiltnismiBigkeitsprinzip beachtet werden: "Insofern ist es trotzdem
nicht so, dass ich sagen kinnte, ich setze alle fest, weil ein Straftiiter dabei
sein kénnte."

Schiuble sagte, dass er Folter ablehne, sich aber nicht gegen die Nutzung
auch méglicherweise unter Folter gewonnener Informationen sperre. Wenn
deutsche Stellen vom anderen Naghrichtendiensten Informationen iiber
einen sehr gefihrlichen Anschlag erhielten, wiire es "absurd", diese nicht zu
nutzen, weil "nicht ganz so zuverlissig wie bei uns garantiert ist, dass sie
rechtsstaatlich einwandfrei erlangt wurden".

Wie hat die Oppesition auf Schiubles Vorschlag, in bestimmten Fiillen vom
rechtlichén Grundsatz der Unschuldsvermutung abzuweichen, reagiert?

1) Sie war emport damiber.

2) Sie begriifite den Vorschlag .

3) Sie nahm seine Worte nicht ernst.

4) 8ie fand seine Worte irritierend.
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Was meint Schiuble iiber die Nutzung der Informationen,  die
moglicherweise unter Folter gewonnen werden?
1) Er lehnt sie strikt ab.
2) Er hat nichts dagegen.
3) Er glaubt nicht, dass solche Informationen viel nutzen.
4) Er hilt diese fiir duBerst wertvoll.

Ginge es nach deutscher Justizministerin, ..........

1) sollte man bei Gefahrenabwehr nicht nach dem VerhiltnismiBigkeitsprinzip handeln.
2) miissen Informationen immer rechtsstaatlich einwandfrei erlangt werden.

3) miisse man im Zweifel immer fiir den Angeklagten stimmen.

4) gelte die Unschuldsvermutung bei der Gefahrenabwehr nicht.

Laut Schiiuble habe der Rechtsstaat die Aufgabe, ..........
1) fiir die Rechte der Biirger zu biirgen.

2) das Gesamtwohl der Biirger zu schiitzen.

3) fiir die Freiheit der Biirger zu sorgen.

4) die Gleichheit der Biirger zu garantieren.

200. Nachdem der deutsche Innenminister hinter vielen eigenwilligen Pliinen

steht, sind viele der Meinung, dass ......... -
1) er die Verfassung eigenhiindig indern will.

2) er die Gesetze zu seinem Gunsten interpretiert.
3) er gesetzeswidrig handelt.

4) er besser eigene Gesetze verabschieden soll.
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